Sign Numbers

Order of Operations
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Properties
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Commutative Property of Addition
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Commutative Property of Multiplication
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Associative Property of Addition


[image: image9.wmf](

)

25

a

+

 = 
[image: image10.wmf]210

a

+



Distributive Property

Algebraic Expressions and Inequalities
Simplify the following expressions
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Evaluate
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Solving Linear Equations

Solve
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subtract three from both sides of the equal sign
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combine like terms
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divide both sides of the equal sign by two
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multiply both sides of the equals sign by the Least Common Denominator LCD (six)
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distribute the six
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reduce frations
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add two to both sides
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combine like terms
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divide both sides of the equal sign by three
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distribute the eight
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combine like terms
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the right side of the equation has more positive “X’s” so move all the pieces with “X’s” to the right side of the equals sign (minus ‘2x’ from both sides)
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combine like terms
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subtract seven from both sides of the equal sign to isolate the piece with the “X” in it
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combine like terms
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divide both sides of the equal sign by six
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distribute the two
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combine like terms
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note here left side of equal sign is the same as the right side


subtract three from both sides of the equal sign
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subtract ‘2x’ from both sides of the equal sign
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this is a true statement, therefore ANY number will make this equation work

So;ve for ‘s”
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isolate the piece of the equation with ‘s’ (subtract 2r from both sides of the equal sign)
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divide both sides of the equal sign by the multiplier of ‘s’ (3t)


[image: image48.wmf]2

3

Ar

s

t

-

=


Problem Solving


Word problems

One integer is three more than twice another integer. If their sum is 18, find the two integers.

Let ‘f’ be the first integer. Let ‘s’ be the second integer.


The first sentence reads, “One integer is three more than twice another integer.” This translates to make: 
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The second sentence reads, “Their sum is 18.” 

This translates to make: 
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note that the first equation is already solved for “f” substitute it into the “f” in the second equation
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combine like terms


[image: image54.wmf]3318

s

+=


subtract three from both sides of the equal sign


[image: image55.wmf]3183

s

=-


combine like terms
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divide both sides of the equal sign by three
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if the second number equals five substitute it into the first equation
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multiply
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combine like terms 
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solution 
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The length of a rectangle is four more than the width.  If the perimeter is 28 feet, find the dimensions.

Let “L” be the length and “W” be the width.
The first sentence reads,” The length of a rectangle is four more than the width.” This translates to make: 
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.
The second sentence reads, “The perimeter is 28 feet.”


This translates to make: 
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note that the first equation is already solved for “L” substitute it into the “L” in the second equation.
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distribute the two.
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combine like terms
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subtract eight from both sides of the equation.
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combine like terms 
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divide both sides of the equation by four.
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substitute “W” into first equation.
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combine like terms
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solution; the length is nine and the width is five.
A real estate agent earned a commission that was 6% of the selling price of a home.  If the agent’s commission was $8400, what was the selling price of the home?
Let h be the price of the home.
The second sentence reads, “If the agent’s commission was $8400, what was the selling price of the home?”




This translates to make: 
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divide both sides of the equation by .06
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Absolute Value Equations
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split into two equations
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first equation, add five to each side of the equation
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solution one
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second equation, add five to each side of the equation
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solution two
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first add five to both sides of the equation
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combine like terms
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split into two equations
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first equation, subtract four from each side of the equation
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combine like terms
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divide both sides of the equation by two
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solution one
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second equation, subtract four from each side of the equation
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combine like terms
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divide both sides of the equation by two
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solution two
Linear inequalities
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subtract three from both sides of the equation.
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combine like terms
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divide both sides of the equation by negative two not forgetting to switch the sign
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My math instructor assigns our course grade based solely on our scores from 4 exams, each of which are worth 100 pts.  What must I score on the 4th exam to earn a B (80% to 89%) letter grade for the course if my first 3 exam scores are: 78, 92, 71.
Note the average of four scores is the sum of the scores divided by four. To get a range of values between 80 and 89 you will need inequalities.
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combine like terms
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multiply all three sections by four
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subtract 241 from all three sections
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combine like terms
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Graphing Equations
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The Graphing Method

The Substitution Method


Solve using substitution:
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Since the first equation is solved for ‘y’ replace the ’y’ in the second equation with ‘
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distribute the negative three
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combine like terms
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add three to both sides of the equation
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combine like terms
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divide both sides of the equation by negative one
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The Elimination Method


Solve using elimination:

[image: image121.wmf]341

xy

+=








[image: image122.wmf]235

xy

+=


You need to make one coefficient of one variable in the first equation equal to the negative of the coefficient of that same variable in the other equation.
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multiply the first equation by negative two
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multiply the second equation by three
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distribute the negative two
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distribute the three
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add the two equations together
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combine like terms
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substitute this result into either of the original equations


[image: image131.wmf](

)

23135

x

+=



[image: image132.wmf]2395

x

+=


subtract 39 from both sides of the equation
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combine like terms
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divide both sides of the equation by two
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Graphing Linear Inequalities
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Exponents and Polynomials
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first cube the 
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multiply coefficients add exponents
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reduce the inside first
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square everything
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evaluate
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anything raised to the zero power is one
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add

3

Polynomial Operations
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distribute the negative sign
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re-write
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combine like terms
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distribute the 
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multiply by using FOIL
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separate the numerator
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multiply by using FOIL
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multiply
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multiply by using FOIL
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Find the quotient and remainder by doing long division
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what multiplies ‘x’ to make 
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multiply it by the 
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what multiplies ‘x’ to make 
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multiply it by the 
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